| V-VI Grades |

> Subiectele de 1a 1 1a 10 valoreaza cate 3 puncte, cele de la 11 la 20 cate 4 puncte, cele de 1a 21
la 30 cite S puncte, iar cele de 1a 31 la 50 din nou cate 4 puncte. Se acorda 40 de puncte din oficiu.
Se vor lua in calcul numai primele 40 de intrebari la care ai indicat un raspuns valabil (nu si cele
la care nu ai bifat niciun raspuns, sau cele la care ai bifat 2, 3 sau 5 raspunsuri). Poti obtine mai
multe puncte daca abordezi intrebarile 11-50, dar risti sa pierzi timp din cauza dificultatii acestora.

> Daca nu ai bifat limba germana, se considera implicit limba engleza.

> Daca ai bifat un raspuns gresit si ai observat greseala, poti bifa cerculetele corespunzitoare
raspunsurilor gresite si lasa nebifat numai cerculetul corespunzator raspunsului bun. Acesta va fi
considerat raspunsul indicat de tine.

> Pentru a vizualiza, pe Internet, analiza in detaliu a lucrarii tale completeaza parola pe foaia de
raspuns. Dupa afisarea rezultatelor, intra pe www.cangurul.ro si completeaza cimpurile specificate.

Read the text below and answer the questions no. 1-5:

A timid little man was introduced to a deaf old lady in a room full of people. Unfortunately the old lady
didn’t catch his name.

“What is your name again?’ she asked.

‘Bloggs,” whispered the little man.

‘What?’ she asked again.

‘Bloggs,’ said the little man.

‘I didn’t catch it,” she said.

‘Bloggs, Bloggs, Bloggs,” he answered, raising his voice louder each time.

“What?’

‘B-L-O-G-G-S,’ cried the little man at the top of his voice.

‘I can’t catch it,” she said, ‘all I can hear is something that sounds like Bloggs.’

1. What is the little man’s name?

A) Blog B) B-L-O-G-G-S C) Timid D) Bloggs E) Little man
2. Where were the old lady and the little man?
A) at a party B) in the street C) on a bus D) in a park E) in a library
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3. The sentence, Unfortunately the old lady didn t catch his name! means that:
A) Happily the old lady knew his name. B) The old lady couldn’t spell his name.
C) Sadly the old lady couldn’t understand his name. D) Fortunately the old lady could understand his name.
E) The old lady didn’t like his name.

4. What problem did the old lady have?
A) She was dumb.  B) She was ill. C) She was sad. D) She was thirsty. E) She was deaf.

5. “To raise his voice’ means:

A) to whisper B) to ask C) to speak more loudly D) to speak in a low voice  E) to say
6. Mr.Green is a butcher. He is forty years old, six feet tall and wears a size ten shoe. What does he weigh?
A) 70 kilos B) 85 kilos C) 90 kilos D) meat E) vegetables
7. Complete the proverb: ‘When the ......... is away, the mice will play.’
A) fox B) lord C) boss D) cat E) lion
8. What’s the opposite of ‘early’?
A) soon B) late C) last D) fast E) in the morning
9. Which is the odd one out?
A) beef B) veal C) lamb D) chicken E) pig
10. Heis keen ............... sports.
A)in B) about C) on D) at E) with

13



Limba englezda — clasele V-VI

Read the text below and answer the questions no. 11-15:

‘Robin Hood and his merry men lived in Sherwood Forest near the town of Nottingham. They were
good friends to all the poor people. They stopped rich men who were passing through Sherwood Forest
and took their money. Then they gave that money to the poor. The poor people of England loved Robin
Hood and his men.

The sheriff of Nottingham wanted to kill Robin Hood. He sent his soldiers to Sherwood Forest many
times, but they could not catch Robin Hood.

No one can prove that such a man as Robin Hood really lived. All that we know about him comes from
ballads. Most ballads are based on facts and it is almost certain that in the 12" century a man who said that

his name was Robin Hood lived in the forest as an outlaw.’
;|

11. What kind of people did Robin Hood like to help?
A)sick people  B) people inneed C)rich people D) happy people  E) merry people

12. Where did Robin Hood live?
A) in France B) in Germany  C) in England D) in the U.S.A. E) in Hungary

13. What did the sheriff want to do?

A) to help Robin Hood B) to fight with Robin Hood C) to talk to Robin Hood
D) to listen to Robin Hood E) to murder Robin Hood
14. What does ‘outlaw’ mean?
A) not protected by law B) protected by law C) protected by the rich
D) not protected by the poor E) protected by small children
15. Choose the right antonym for ‘merry’.
A) happy B) cheerful C) funny D) sad E) understanding
16. She is tall and thin and she has got ............... and .............. .
A) long curly black hair / blue eyes B) curly long black hair / blue eyes
C) black long curly hair / blued eyes D) long black hair curly / blue eyes
E) black hair long curly / bleu eyes
17.Givemea ....... of bread, please!
A) jar B) glass C) cup D) piece E) slice
18. The Royal Hotel is the ............ in our town.
A)old B) oldest C) elder D) older E) eldest
19. .......... he helps his mother and then he goes shopping.
A) At first B) After C) First D) After then E) Starting
20. Complete the proverb with one suitable word only: ‘Don t judge a ... by its cover’.
A) person B) book C) child D) house E) teacher
21. When is the National Day of England celebrated?
A) 23 of April B) 1 of May C) 4" of July D) 14" of July E) 1% of December
22. Match these Scottish people with the things that made them famous:
1. Arthur Conan Doyle a. the telephone
2. Alexander Graham Bell b. historical novels
3. Walter Scott c. Sherlock Holmes
4. Sean Connery d. the first James Bond

A) 1c2a/3b/4d  B)1a2¢/3b/4d  C) 1a/2b/3c/4d D) 1c/2a/3d/4b E) 1b/2a/3c/4d

23. Who wrote Romeo and Juliet?
A) Oscar Wilde B) William Shakespeare C) Charles Dickens
D) Mihai Eminescu E) Mark Twain

14



24. Complete the similes:
1. as pretty as 2.asoldas  3.assharpas 4. as strong as

a. an ox b. a razor c. hills d. a picture
A) la/2d/3b/4c  B) 1d/2c¢/3b/4da C) 1a/2b/3c/4d D) 1c/2b/3d/4a E) 1d/2a/3b/4c

25. Arrange the following sentences in the right order to make a joke:
1. ‘I don’t think I know either, Sir!’
2. ‘What do you think it is, Sir?’
3. ‘Nick, what is the past participle of the verb to ring?’
4. ‘I don’t think,  KNOW!’
A) 3-2-4-1 B) 3-4-2-1 C) 2-4-1-3 D) 2-1-4-3 E)3-2-1-4
Read the text below and answer the questions no. 26-30:

Once there was a rabbit who wanted to buy a new pair of boots, so he went to the market, on a Sunday
morning. The sun was shining and the rabbit was in a very good mood.

On his way, he met the greyhound, who told him that he had already bought new boots. The greyhound
said that he had paid £ 3.50 for them.

The two stopped in a pub to chat for a while, but the rabbit didn’t order anything else but a glass of water
because he knew that he needed the rest of his money for the boots. The greyhound had a large sandwich
and a few drinks, but finally he had no money to pay for them. Then, the greyhound fell asleep.

The rabbit had to pay the bill. He was extremely sad and angry. He thought for a few moments and then
he decided- he took the new boots off the greyhound’s feet and...

26. What words are the most suitable to end the story?

A) they made friends B) fell asleep too C) went away
D) went to the market E) order another drink
27. What sort of an animal is the greyhound?
A) acat B) a horse C) a goat D) a dog E) a donkey
28. What was the weather like?
A) sunny B) warm C) hot D) cloudy E) rainy
29. How much did the greyhound pay for his new boots?
A) three pounds fifteen  B) three dollars fifty cents C) three pounds and fifty pence
D) three pounds E) three pence and fifty pounds

30. What did the rabbit order?
A)nothing  B)afewdrinks C)aglass of water D) asandwich E) a sandwich and a glass of water

31.If [ learn .............. I will have .............. results.
A) more / better ~ B) worse / gooder  C) good /badder D) less/better  E) well / less

32. While she .......... to her favourite singer, she ........... a strange noise.
A) listen / hear B) was listening / heard C) were listening / were hearing
D) was hearing / listened E) sings / does

33. The person that brings wine and food at the table is a:
A) a hairdresser B) a waiter C) an artist D) a cook E) a plumber

34. Find the right missing word:

‘A postman usually ........................ letters ’

A) reads B) mails C) writes D) sends E) delivers

35. The cake and the ............... gave Jake a belly ache.
A) break B) fake C) lake D) steak E) make
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36. Star light, star bright,
First star I see tonight
IwishImay, IwishI ...

Have the wish I wish tonight.
A) right B) bite C) might D) sight E) write
37. Wooden hut, small and shut “ is a .............. .
A) door B) box C) nut D) chalet E) bungalow
38. We remember them. They were ................ neighbours.
A) ours B) them C) mine D) our E) they

39. Choose the right sentence formed by these words:
she is / for school / on time /always /almost
A) For school she is almost always on time. B) She is almost always on time for school.
C) She is always almost on time for school. D) Almost always she is on time for school.
E) She almost always is on time for school.

40. What is the answer to the question:

“Would you like to go to the disco on Saturday evening?’
A) ‘Sure, I'd love to!” B) ‘Are you sure?’ C) “Yes, please give me some!’
D) ‘Sure, here you are!’ E) ‘Sure, go ahead!’

41. Complete the following text with the correct words:
.......... name is Sue. She ......... newspapers in the street. She ........ a lot of people every day.

A) His /sails/see B)He’s/sails/sees C)Her/sells/sees D) She’s/sells/see E)Hers/sells/ sees

42. Which one of these tales was not written by the Grimm Brothers?

A) The Little Mermaid B) Cinderella C) Snow White D) Hansel and Gretel = E) Sleeping Beauty

43. Mother: ........... you enjoy your first day at school?
Girl: First day? Do you mean I have to go back tomorrow?
A) Did B) Have C) Do D) Does E) May
44. What time will it be in half an hour?
A) quarter past seven B) quarter to seven  C) eight o clock
D) half past seven E) half past eight
45. I hardly ever drink coffee in the morning.
‘Hardly ever’ means:
A) usually B) very rarely C) sometimes D) frequently E) never
46. We haven’t got .......... eggs,but there is ......... milk in the fridge.
A) some/afew B)any/some C) many / any D) much / some E) any / few

47. A farmer has got one dog, two ducks, five chickens, seven horses and eight sheep.
How many animal legs are there on the farm?

A) 16 B) 32 C) 48 D) 64 E) 78
48. Complete the sentence:
One advantage of eating out is that someone else ....... the dishes.
A) does B) makes C) do D) works E) work
49. Odd one out: Taste-eight-white-wait-paint-saint.
A) eight B) white C) wait D) paint E) saint
50. ‘I'm exhausted’ means:
A) I’ve run out of money. B) I’ve changed my mind. C) 'm very tired.
D) I’'m not very happy. E) I'm sad.
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| 5.-6. Klassen

> Subiectele de 1a 1 1a 10 valoreaza cate 3 puncte, cele de la 11 la 20 cate 4 puncte, cele de 1a 21
la 30 cite S puncte, iar cele de 1a 31 la 50 din nou cate 4 puncte. Se acorda 40 de puncte din oficiu.
Se vor lua in calcul numai primele 40 de intrebari la care ai indicat un raspuns valabil (nu si cele
la care nu ai bifat niciun raspuns, sau cele la care ai bifat 2, 3 sau 5 raspunsuri). Poti obtine mai
multe puncte daca abordezi intrebarile 11-50, dar risti sa pierzi timp din cauza dificultatii acestora.

> Daca nu ai bifat limba germana, se considera implicit limba engleza.

> Daca ai bifat un raspuns gresit si ai observat greseala, poti bifa cerculetele corespunzitoare
raspunsurilor gresite si lasa nebifat numai cerculetul corespunzator raspunsului bun. Acesta va fi
considerat raspunsul indicat de tine.

> Pentru a vizualiza, pe Internet, analiza in detaliu a lucrarii tale completeaza parola pe foaia de
raspuns. Dupa afisarea rezultatelor, intra pe www.cangurul.ro si completeaza cimpurile specificate.

1. Welches Wort passt hier nicht?

A) Milch B) Bluse C) Hose D) Anzug E) Socken
2. Mit unserer Zunge konnen wir ........... .
A) schmecken  B) riechen C) horen D) sehen E) laufen
3. Was passt noch?
Elefant, Bir, Tiger, ...........
A) Schwein B) Kuh C) Lowe D) Hund E) Schaf
4. Finde fiir diesen Satz das passende Wort:
Ihr ............. oft zu frech.
A) seid B) ist C) bist D) sind E) bin
5. Eins, zwei, drei
dubist .................
A) klein B) frei C) Mai D) vier E) da

6. Anja und Sabine spielen Memory.
Tobias mdchte auch .......... .
A) singen B) turnen C) mitspielen D) tanzen E) essen

7. Schuhe konnen nicht ............ sein.
A) klein B) dick C) neu D) alt E) schick

8. — Komm, wir spielen!

— Ich habe leider keine .......... .
A) Ball B) Lust C) Angst D) Hunger E) Freund
9. Otto mochte lesen. Wo ist aber sein ............ ?
A) Spitzer B) Fiiller C) Penal D) Farbstift E) Buch
10. Die Suppe ist im ................ .
A) Kiihlschrank B) Vase C) Hof D) Schule E) Waschmaschine

11. Welche Blumen bliithen nur im Winter und konnen nicht gepfliickt werden?
A) die Rosen B) die Tulpen C) die Eisblumen D) die Lilien E) die Veilchen

12. Welches dieser Tiere kann nachts genau so gut sehen wie am Tag?
A) der Maulwurf B) die Ziege C) der Wolf D) die Katze E) der Lowe
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13. Welches Essen ist typisch Deutsch ?

A) Spaghetti B) Pizza C) Sushi D) Bratwurst E) Wiener Schnitzel
14. In der Kiiche gibt es keine ............... .

A) Badewanne B) Schrank C) Tisch D) Stuhl E) Lampe
15.Was passt nicht? Ich sammle ............. .

A) Muscheln B) Postkarten C) Planeten D) Briefmarken E) Puppen
16. Das Essen steht ............ dem Tisch.

A) unter B) neben C) in D) iiber E) auf
17. Die Bienen ................... leise.

A) knurren B) kréhen C) miauen D) summen E) brummen
18. Welches Substantiv hat ein anderes Genus?

A) Mann B) Meer C) Mantel D) Monat E) Mond
19. Finden Sie die logische Entsprechung.  brennen: Feuer = fliefen: ............... .

A) Kohle B) Ring C) Wasser D) Tasche E) Koffer
20. Wie heif3t das Gegenteil (Antonym)? Anfang - ................. .

A) Ende B) Mitte C) Untergang D) Beginn E) Abkommen
21. Setze das richtige Fragewort ein. —............. leihst du das Buch? Meinem Freund.

A) Wem B) Wen C) Was D) Wie E) Wofiir

22. Wibhle die richtige Variante!

Der strenge Vater sagt zu seinen Kindern: ,, Wer die Hausaufgaben nicht gemacht hat ... nicht fernsehen.”

A) diirfen B) diirfst C) darf D) darfst E) diirft
23. Sie musste im Bett bleiben, ................ sie hatte hohes Fieber.
A) weil B) da C) also D) oder E) denn

24. Welches Kompositum ist nicht richtig?
A) Strallenbahn B) Taschenbuch C) Kindergarten D) Kirschbaum E) Butterreis

25. Mein Mitschiiler ist fleiig. Er ist der .............. in unserer Klasse.
A) erster B) erstes C) erste D) ersten E) erst

26. ,,Renate, sag deinem Bruder, dass er sofort zu Tisch kommen ................!
A) muss B) kann C) darf D) méchte E) will

27. Finde die logische Entsprechung.
Tasse: Geschirr = Auto: ...............

A) Brief B) Gabel C) Obst D) Fahrzeug E) Buch
28. Anja hat Angst, weil ............ .
A) sie muss zum Zahnarzt B) sie zum Zahnarzt muss C) zum Zahnarzt muss sie
D) muss sie zum Zahnarzt E) muss zum Zahnarzt sie
29. In welchem Mirchen von den Briidern Grimm kann ein Spiegel sprechen?
A) ,.Frau Holle” B) ,,Hans im Gliick” C) ,.Dornréschen”
D) ,.Der Froschkonig” E) ,.Schneewittchen und die sieben Zwerge”
30. Der LOWE ....ccoevuvveeennnns .
A) bellt B) gackert C) briillt D) miaut E) kriht
31. Otto kauft im .............. Spinat.
A) Hotel B) Kino C) Buchhandlung D) Schule E) Gemiiseladen
32. Es ist ein beliebtes Kartenspiel:
A) Lego B) Domino C) Verstecken D) Quartett E) Fangen
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33. Der Wolf fragt Rotkdppchen:

—Was istin deinem ............ , liebes Kind?

A) Tasche B) Sack C) Korb D) Rucksack E) Koffer
34. Der Elefant hat einen ............ .

A) Auge B) Ohr C) Riissel D) Nase E) Bein
35. Der Koch arbeitet in der ........... .

A) Balkon B) Biiro C) Schlafzimmer D) Badezimmer E) Kiiche
36. Wie heifit das Gegenteil von ,,Kélte” ?

A) Hitze B) Schmerz C) Hunger D) Durst E) Langeweile
37. Welche Pluralform ist richtig? das Tuch —die .............. .

A) Tuchen B) Tiichen C) Tuchs D) Tiicher E) Tucher
38. Wie spit ist es? Es ist Viertel nach sieben.

A) 7.15 Uhr B) 7.05 Uhr C) 7.25 Uhr D) 7.30 Uhr E) 7.45 Uhr
39.Ich......... das Bild an die Wand.

A) setze B) hinge C) lege D) stehe E) liege
| R sind nach Bremen gegangen.

A) Der Esel, der Hund, die Katze und der Hahn
C) Der Esel, das Huhn, das Ferkel und die Katze
E) Die Eselin, der Hund, der Kater und der Hahn

41. Samstag und Sonntag sind ............... .

A) Arbeitstage ~ B) Ruhetage C) Festtage

42. Was passt nicht in die Reihe?
A) schlafen B) laufen C) rennen

43. Ich helfe meiner Mutter bei der Arbeit ...............
A) mit B) auf C) an

44. Woraus machen wir Popcorn her?
A) aus Zucker  B) aus Brot C) aus Reis

45. Doris und Peter sind:
A) Geschwister B) Briider

46. Zu Weihnachten wiinscht man:

C) Schwestern

A) Tschiis! B) Auf Wiedersehen!
D) Frohe Ostern! E) Schone Griif3e!
47. Mein Fiiller schreibt nicht. Er hat keine .............
A) Wasser B) Milch C) Saft
48. Was ist der Mann von Beruf?
A) Lehrer B) Polizist C) Pilot
D) Maler E) Fischer
49. Was bedeutet das Wort ,,taglich™?
A) jede Woche  B) jedes Jahr C) jeden Tag
50. Finde den passenden Reim:
"Sonne, Sonne strahle
Uber Bergund.........!
Hdschen, Hdschen hiipfe,
Schmetterling entschliipfe!”
A) Wiese B) Wald C) Tale

B) Das Pferd, das Schwein, die Henne und der Kater
D) Der Fuchs, der Hund, die Katze und das Huhn

D) Ferientage E) Freitage

D) steigen E) klettern
der Kiiche.

D) unter E) in

D) aus Mais E) aus Kartoffeln

D) Gebriider E) Jungen

C) Frohe Weihnachten!

mehr.

D) Tinte E) Tee

D) jeden Monat E) jeden Abend

D) Ebene E) Gipfel
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